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1
Decision/action requested

Agree on minor update for the Accessibility KPI.
2
References

[1] 3GPP TS 32.450 V0.2.0 - Key Performance Indicators (KPI) for E-UTRAN: Definitions

[2] S5-080720  E-UTRAN KPI proposals

3
Rationale

Objective:  
· Update the definition of the Accessibility KPI in [1], where it is incorrectly stated that Default EPS Bearers is not needed per QoS group.
· Also update the definition so that it covers the case when there are multiple deafault EPS bearers per UE (one per APN)

4
Detailed proposal
It is proposed that the change marked text is added to the specification.
6.1.1.2
Extended definition

Mapping of end-user applications towards EPS bearers can be different depending on operator strategy; hence the measurement shall be adjustable depending on operator EPS Bearer mapping strategy.  
Table 1 Example of service mapping towards EPS bearers
	Operator
	Service
	EPS bearer mapping

	A
	X
	Default EPS Bearer

	A
	Y
	Default EPS Bearer

	B
	X
	Default EPS Bearer

	B
	Y
	Dedicated EPS Bearer


To provide Accessibility measurement from E-UTRAN that can be mapped to a service for the operator the following measurements are defined:

A1: Default EPS bearer establishment success rate

A2: Dedicated EPS bearer establishment success rate

The establishment success rate is defined as:
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Services can be mapped towards either Default or Dedicated EPS Bearers depending on operator strategy. If a different QoS characteristic is required than an existing Default EPS Bearer, a Dedicated EPS Bearer can be requested.  QoS characteristics can be defined on an EPS Bearer basis; hence both Default EPS bearer establishment success rate (A1) and Dedicated EPS bearer establishment success rate (A2) shall be available per QoS group.

With these two measures the operator can calculate the service accessibility depending on EPS bearer mapping as follows:

Service mapped on Default EPS Bearer = A1*100 [%]

Service mapped on Dedicated EPS Bearer = A1*A2*100 [%]
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Number of received EPS bearer establishment attempts








Number of successful EPS bearer establishments








